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Revie solv1ng
problems with
proportions.

September 16, 2013

Propontions

(genda,

2nd: Finish Test
Warm-Up
Notes:
Proportions

p. 15&16

Homework
ALL

Progress Reports
DUE Friday

Pick up this week's HW packet: WRITE YOUR NAME ON IT!

Warm-Up (Manday)

A one-pound Hercules beetle is said to
be the strongest creature on earth for
its size, able to carry 850 times its own
body weight. If humans can carry the
same amount proportionally, how

much will a 125 lb human carry? -
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2nd period: You have

minutes to finish the test. When
you are done, get your notebook
out and be ready to take notes. |
will (hopefully) have your progress
reports by tomorrow, with test
grades.
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1. InMrs. Willis's Brst period Algebral class, the
ratic of boys to girls is 3:2. Ifthere are 18 boysin

the class, how man ere in the class?

q

2. Theratio of boysto girls in track i m Ifthere

are 54 students in track, how many are b ?(Be N ”'
carefull) M‘l’b‘l‘ll‘\b\ﬁs - N

How many are girls?
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3. Asixfoot tall fence post casts a shadow 2 feet long.
Atthe same time, of day, a flagpole casts a shadow
21 feetlong. How tall is the flagpole? ma’
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4. jirline food service finds that a recent flight of
ssengers ordered dinner as shown in the

table. Based on this information, estimate how
many lasagna dinners Will be needed for a flight of

3 Ssengers. W\O \N
<K

Dinner Frequency

Chicken 65
Fish 30 \ V2 8
- 4
ﬁgna 25__/'

Vegetarian 2 X — 11 %

B. Ajeweler created a pin so that the iangles

(AABC and AEDC) inthe pin aresimilar. Write
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Algebra ] - Linit 1; Tgoic 3 —Solving Proportions C .0

Solve each proportion.
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Fmgregg Repsiiz
Dhe (cigned) fy Tridagfor a-free homewiork grabe
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Aszessment Mame Type Date Max,  Weight Grade
M athBook & Contact Card Homework & Daily Wark 0873013 100 1 100
HW: Punchline Hom ewotk & Daily Work 0853003 100 1 100
First Week Guiz Hom ewotk & Daily Work 08/30M3 100 1 70
Warm U ps: Week 1.2 Hom ewotk & Daily Work 09M6M3 3 1 3
HWW: Packet 1.2 Homework & Daily work 090613 100 3 100
Warm U ps: Week 1.3 Hom ewotk & Daily Work 09M3n3 4 1 4
HW: Packet 1.3 Homework & Daily Woaork 09M3M3 100 3 95
Gz Unit 1 Qizzes 090613 100 1 a3
Bonus Points: Revies Unit 1 Tess 09M3M3 100 1 9

* WOTE: Secondary Onby - There isa 30 point grade penalty on ary work due duning maancy.

Comiments Aszezsment Type Weight Grade
* Homework & Daily Work 20 gE
* Qizzes 30 g3
. Teds 50 ES
Querall Grade 7




9 Proportions.notebook September 16, 2013

Unit 1 Test 1 Correction Tutoring Times

(AM/PM only, No Lunches_SORRY) AM: 8:15-9:00AM

PM: 4:15-6:00PM

Monday

Tuesday

Wednesday
18

Thursday

Eriday

16

NONE

17

PM ONLY

AM
PM

19

AM ONLY

20
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Algebra I - Lhit 1: Topic 3 —Solving Proportions 7\ \A‘/

Practice - Solving Proportions pp 114-120

Mame Date Fer

Solve each proportion.

-5
4

| N

1 3
2. R R
y=3 »-5

3. Triangle 48 s similar to Triangle 425 What s, x, the distance across the lake from Point 8 to Point &
B

D x
15 f+
A 20 ft E a0 ft c
4, & museum has scale models representing different time periods in history, 4 scale in which one inch in the

model represents two feet is used to construct the models, The museum's sculptor wants o build a model of
an 21-foot-tall tree for one of the exhibits, How tall should she make the model of the tree?

=8 STOP MART received a delivery of 1080 bottles of Coke and Diet Coke, If the ratio of Coke delivered to
Diet Coke delivered was 63, how many bottles of Diet Coke were delivered?

el
|
L

ép—2 Spt7
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Algebra I —Lhit 1; Topic 3 —Solving Proportions

B. Triangle 48 is similar to Triangle 255 What is the value of x7 =
A
O x
4m
B m
Im E
B

1
9, Marlene canwalk 2= miles in 40 minutes, Determine how far she can walk in one hour,

B, Marlene increases her rate to 3 miles in 40 minutes, At this current rate, how far will she walk in one bour?

10.  “ince is making cookies for his Single Survival class, The recipe he is using requires 1 cup of milk for
B servings. Ifhe wants to make enough cookies for 28 servings, how much milk will Yince need?

11. Joshis 1.8 meters tal. On a sunny day, Lenny measured Josh's shadow (3.5 meters) and the shadow of their
house at the same time,

&, Draw a picture to represent the situation,

B. If the length of the house's shadow & S tirmes the length of Josh's shadow, how long is the house's
shadow?

C.  What is the height of the house?
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